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Mr. Schlansky -
Linear Equations Through a Point

1. What is the equation of a line that passes through the pomt (—3,~11) and is parallel to the line
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2. What is an equation of the line that passes through the point (-2, 5) and is perpendicular to the
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3. What is an equation of the line that contains the point (3,~1) and is perpendicular to the line
whose equation is y = —3x +27? ml= _é
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4. An equation of the line that passes through (2.~1) and is parallel to the line Zy =8 is

s x =-3x
mz) 3) y- 1_--(x+2)
‘_\__’4____/

2)y+1=§(x—2) 4)J’f1=§(x+2) gj:‘%gg
m I! ‘-“% 873;3/”) Nﬂ(/) | \\7/: --—gx*‘{

PR o 4

Ji=-

——



5. What is an equation of the line that is perpendicular to the line whose equation is y = -g-x— 2
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and that passes through the point (3,~6)? m.,a/
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7. What is an equation of the line that passes through the point (6, 8) and is perpendicular to a line
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8. What is an equation of a line which passes through (6, 9) and is perpendicular to the line whose
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9. What is an equation of a line that is perpendicular to the line whose equation is/2y = 3x - 10
and passes through (-6, 1)? -
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11. What is an equation of the line that passes through the point (7, 3) and is parallel to the line
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13. Write the equation of a line perpendicular to 4y :i-jf( =10that passes through (~1,0).
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14. Given MN shown below, with A(-6, 1) and M(3,~5), what is an equation of the line that
passes through point 2(6, 1) and is parallel to AV?
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